
 SSC CGL MOCK 5 -Tire-I

 General Intelligence
Directions for question 1 to 4 : Select the related
word/letters/number/figure from the given
alternatives.

ØeMve mebKÙee 1 mes 3 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
mebyebefOele Meyo/De#ejeW/mebKÙee/Deeke=âefle keâes ÛegefveS~
1. ECA : KIG :: QOM : ?

(a) WUS (b) SUW (c) UWY (d) RTV
2. Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej Deeke=âefleÙeeB :

3. WASH : CLOTH :: SWEEP : ?
Oeesvee : JeŒe :: PeeÌ[vee : ?
(a) FACE/Ûesnje (b) FLOOR/heâMe&
(c) PEON/Ûehejemeer (d) SWEEPER/cesnlej

4. 9 : 80 :: 100 : ?
(a) 901 (b) 1009 (c) 9889 (d) 9999

5. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in the
alternatives are represented by two classes of
alphabets as in the matrix given below.
The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-II
from 5 to 9. A letter from the matrix can be
represented first by its row and next by its
column, e.g., ‘P’ can be represented by 00, 14,
etc., and ‘V’ can be represented by 55, 67, etc.
Similarly, you have to identify the set for the
word ‘FIVE’.
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee
efkeâ efJekeâuheeW ces mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW ceW efoS
ieS mebKÙee mecetn, De#ejeW kesâ oes JeieeX Éeje oMee&S ieS nQ, pewmee efkeâ
veerÛes efoS ieS cewefš̂keäme ceW nw~ cewefšk̂eäme-I kesâ mlecYeeW Deewj hebefkeäleÙeeW
keâer mebKÙee 0 mes 4 oer ieF& nw Deewj cewefšk̂eäme-II keâer 5 mes 9~
cewefšk̂eäme mes Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj efheâj mlecYe
mebKÙee Éeje yeleeÙee pee mekeâlee nw~ GoenjCe kesâ efueS ‘ ’P  keâes 00,
14 Deeefo Éeje yeleeÙee pee mekeâlee nw leLee ‘ ’V  keâes 55, 67, Deeefo

Éeje yeleeÙee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes Meyo kesâ efueS
mebKÙee mecetn ‘FIVE’ keâes henÛeevevee nw~

Matrix-I Matrix-II

0 1 2 3 4 5 6 7 8 9

0 P Q R I S 5 V E M F N

1 I S R Q P 6 F N V E M

2 P R I S Q 7 E M F N V

3 Q S P R I 8 N V E M F

4 R I S Q P 9 M F N V E

(a) 58, 10, 67, 75 (b) 77, 22, 67, 88
(c) 96, 42, 79, 87 (d) 89, 34, 86, 93

Direction for question 6 to 8 : Find the odd
number/letters/word from the given alternatives.

ØeMve mebKÙee 6 mes 8 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
efJe<ece mebKÙee/De#ej/Meyo ÛegefveS~
6. (a) 51 (b) 144 (c) 64 (d) 121
7. (a) Jacket/pewkesâš (b) Cloth/Jem$e

(c) Shirt/keâceerpe (d) Trousers/heleuetve
8. (a) KMN (b) GHI (c) DFG (d) OQR
9. Which one of the given responses would be in

English dictionary order of the following
words?
efoS ieS efJekeâuheeW ceW mes keâewve-mee efJekeâuhe veerÛes efoS MeyoeW keâe
Deb«espeer Meyoekeâes<e kesâ ›eâce cebs oMee&Ùesiee?
1. Passport 2. Picture 3. Package
4. Patience 5. Palace
(a) 1, 2, 3, 4, 5 (b) 5, 1, 4, 3, 2
(c) 2, 5, 1, 4, 3 (d) 3, 5, 1, 4, 2

10. If a mirror is placed on the line AB, then which
of the answer figures is the correct image of
the given question figure?
Ùeefo efkeâmeer ohe&Ce keâes jsKee AB hej jKee peeS, lees oer ieF& Gòej
Deeke=âefleÙeeW ceW mes keâewve-meer Deeke=âefle ØeMve Deeke=âefle keâe mener
Øeefleefyecye nesieer?
Question Figure/ØeMve Deeke=âefle :
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Answer Figures/Gòej Deeke=âefleÙeeB :

11. Which one of the given responses would be a
meaningful order of the following words?
efoS ieS efJekeâuheeW ceW mes keâewve-mee efJekeâuhe veerÛes efoS ieS MeyoeW keâe
meeLe&keâ ›eâce oMee&Siee?
1. Stem/levee 2. Leaf/heòee
3. Flower/hetâue 4. Root/peÌ[
5. Bud/keâueer
(a) 4, 1, 2, 5, 3 (b) 3, 1, 4, 2, 5
(c) 1, 2, 3, 5, 4 (d) 2, 1, 3, 4, 5

Direction for question 12 to 14 : A sereis is given with
one term missing. Choose the correct alternative
figure from the given ones that will complete the
series.

ØeMve mebKÙee 12 mes 14 lekeâ kesâ efueS efveoxMe : Skeâ Deveg›eâce efoÙee nw
efpemeceW Skeâ heo/Deeke=âefle ueghle nw~ efoS ieS efJekeâuheeW ceW mes Jen mener
efJekeâuhe ÛegveW pees Deveg›eâce keâes hetje keâjs~
12. Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figuers/Gòej Deeke=âefleÙeeB :

13. R, U, X, A, D, ?
(a) F (b) G (c) H (d) I

14. 2, 14, 38, ?, 182, 374
(a) 96 (b) 116 (c) 86 (d) 106

15. Which one set of letters shall complete it when
sequentially placed at the gaps in the given
letter series shall?
De#ejeW keâe keâewve-mee mecetn Keeueer mLeeveeW hej ›eâceJeej jKeves mes oer
ieF& De#ej ëe=bKeuee keâes hetje keâjsiee?
pq_r_q_r_qrr
(a) rppp (b) rprp (c) rpqr (d) rppr

16. Nilesh walked 3 km towards West and turned
right. He again walked 2 km. He turned left
and walked 5 km. Finally, he turned left and
walked 2 km. In which direction is Nilesh from
the starting point?
veeruesMe heefMÛece keâer Deesj 3 efkeâceer Ûeuee Deewj oeÙeeR Deesj cegÌ[ ieÙee~
Jen efheâj 2 efkeâceer Ûeuee~ Jen yeeÙeW cegÌ[keâj 5 efkeâceer Ûeuee~ Deble ceW
Jen yeeÙeeR Deesj cegÌ[e Deewj 2 efkeâceer Ûeuee~ veeruesMe DeejbefYekeâ mLeeve
mes efkeâme efoMee ceW nw?

(a) South (b) North (c) West (d) East
17. Of the five members of an interview committee

sitting in a row, B is left to E but right to A. D is
sitting right to C but left to A. Find the one who
is sitting in the middle.
Skeâ hebefkeäle ceW yew"s Skeâ mee#eelkeâej meefceefle kesâ heeBÛe meomÙeeW ces mes B
yeeÙeeR Deesj mes E kesâ, ceiej A kesâ oeÙeeR Deesj nw~ D, yew"e nw C kesâ
oeÙeeR Deesj ceiej A kesâ yeeÙeeR Deesj yew"e nw~ yeerÛe ceW keâewve yew"e nw,
%eele keâerefpeS~
(a) B (b) A (c) D (d) C

18. Mohan secures thirteenth rank from the top in
a class of twenty students. What is his rank
from the bottom?
yeerme efJeÅeeefLeÙeeW keâer keâ#e ceW ceesnve Thej mes lesjnJeW mLeeve hej nw~
veerÛes mes Gmekeâe mLeeve keâewve-mee nesiee?
(a) 7 (b) 6 (c) 8 (d) 9

19. If ‘CODING’ is written as ‘EQFKPI’ in a certain
code, how would ‘DECODE’ be written in that
code?
Ùeefo Skeâ ketâš Yee<ee ceW ‘CODING’ keâes ‘EQFKPI’ efueKee
peeS, lees ‘DECODE’ keâes Gmeer ketâš Yee<ee ceW kewâmes efueKee
peeSiee?
(a) FGEQGF (b) FGEQFG
(c) FGEQEF (d) GEFQFG

20. A is B’s son. C’s father is F. F is D’s son and B is
D’s daughter. How is A related to F?
A heg$e nw B keâe~ C keâe efhelee F nw~ F heg$e nw D keâe Deewj B heg$eer
nw D keâer~ A keâe F mes keäÙee mebyebOe nw?
(a) Nephew (b) Niece (c) Cousin (d) Son-in-law

21. A word given in capital letters is followed by
four answer words. Out of these, only one
cannot be formed by using the letters of the
given word. Find out the word.
yeÌ[s De#ejeW ceW efoS ieS Meyo kesâ heMÛeeled Ûeej Gòej Meyo efoS ieS
nw~ FveceW mes kesâJeue Skeâ Meyo keâer efoS ieS Meyo kesâ De#ejeW keâes
efceueekeâj veneR yeveeÙee pee mekeâlee~ Gme Meyo keâes {tBefÌ{S~
AWARENESS
(a) AWARE (b) NEAR (c) SENSE(d) NEST

22. Two statement are given and followed by four
conclusions respectively. You have to consider
the two statements to be true, even if it seems
to be at variance from the commonly known
facts. You have to decide which of the given
conclusions, if any, follows from the given
statements.
oes keâLeveeW kesâ Deeies Ûeej efve<keâ<e& efoS ieS nQ~ Deehe meeceevÙe %eele
leLÙeeW ceW Deblej nesves hej Yeer oesveeW JeekeäÙeeW keâer heÌ[leeue melÙe mecePe
keâj keâjW~ Deehe leÙe keâjW efkeâ efoS ieS efve<keâ<eeX ceW mes keâewve-mee,
Ùeefo keâesF& nes, efoS ieS keâLeveeW mes efvekeâuelee nw~
Statements/keâLeve :
I. Madhuri is beautiful/ceeOegjer megboj nw~
II. She can dance./Jen ve=lÙe keâj mekeâleer nw~
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Conclusions/efve<keâ<e& :
I. Dancers are beautiful/vele&efkeâÙeeB megboj nesleer nw~
II. Beautiful women are dancers/megboj efŒeÙeeB vele&keâer nesleer nQ~
III.Some beautiful women can also dance./kegâÚ mebgoj

efŒeÙeeB Yeer ve=lÙe keâj mekeâleer nQ~
IV. If ugly, one can’t dance./Ùeefo keâesF& Yeöe nes, lees Jen ve=lÙe veneR

keâj mekeâlee~
(a) All are true/meYeer efve<keâ<e& melÙe
(b) None is true/keâesF& efve<keâ<e& melÙe veneR
(c) Only III is true/kesâJeue efve<keâ<e& III melÙe
(d) Only I is true/kesâJeue efve<keâ<e& I melÙe

23. Select the missing number from the given
responses.
efoS ieS efJekeâuheeW ceW ueghle mebKÙee %eele keâerefpeS~

(a) 24 (b) 30 (c) 27 (d) 33
24. If ‘–’ stands for ‘ ’ , ‘ ’ for ‘ ’ , ‘ ’ for ‘ ’ , and ‘ ’

for ‘ ’, which of the following is correct?
Ùeefo ‘ ’ keâe DeLe& nw ‘ ’, ‘ ’ keâe DeLe& nw ‘ ’, ‘ ’ keâe DeLe& nw
‘ ’, ‘ ’ keâe DeLe& nw ‘ ’, lees efvecveefueefKele ceW mes keâewve-mee
meceerkeâjCe mener nw?
(a) 30 10 12 8 12 46
(b) 30 10 12 8 12 48
(c) 30 10 12 8 12 44
(d) 30 10 12 8 12 40

25. A piece of paper is folded and cut as  shown
below in the question figures. From the given
answer figures, indicate how it will appear
when opened.
veerÛes ØeMve Deeke=âefleÙeeW ceW efoKeeS Devegmeej keâeiepe keâes ceesÌ[keâj
keâešves leLee Keesueves kesâ yeeo Jen efkeâme Gòej Deeke=âefle pewmee efoKeeF&
osiee?
Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej Deeke=âefleÙeeB :

 General Awareness
26. Tribes Advisory Council shall be established

in-
pevepeeefle meueenkeâej heefj<eo keâer mLeehevee keâer peeÙesieer-
(a) Each state of India/ Yeejle kesâ ØelÙeskeâ jepÙe ceW

(b) Each state having scheduled area / ØelÙeskeâ jepÙe,
efpemeceW DevegmetefÛele #es$e nw~

(c) Any state having scheduled tribe/
DevegmetefÛele pevepeeefleÙeeW Jeeues efkeâmeer Yeer jepÙe ceW

(d) B and C both
27. Gandhiji became President of Congress

session in 1924, where this session organised?
1924 ceW ieebOeer peer keâer DeOÙe#elee ceW keâeb«esme keâe DeefOeJesMeve keâneB
ngDee Lee?
(a) Belgaun / yesueieeBJe (b) Kanpur / keâevehegj
(c) Ahmedabad / Denceoeyeeo (d) Surat / metjle

28. Title "Kavi Priya" is given by Mugal ruler,
Akbar , to
cegieue MmemeÙekeâ Dekeâyej ves ’’keâefJe efØeÙe’’ keâer GheeefOe efkeâmes Øeoeve
keâer ?
(a) Tansen/ leevemesve (b) Birbal/ yeerjyeue
(c) Faizi / leevemesve (d) Salim/ meueerce

29. Wild Ass sanctuary is situated  in
pebieueer ieOee DeYeÙeejCÙe efmLele nw—
(a) Rajasthan / jepemLeeve (b) Haryana / nefjÙeeCee
(c) Gujarat / iegpejele
(d) Madhya Pradesh / ceOÙe ØeosMe

30. Kayal Lake in Kerala is a form of
kesâjue keâer keâÙeeue Peerue efkeâme Øekeâej keâer Peerue nw?
(a) Sea cliff/ mecegõ leš keâer heneÌ[er
(b) Sea cave/ mecegõer iegheâe
(c) Sand bar/ yeeuet heóer (d) Lagoon/ uesietve

31. Price  of all petroleum products are
determined by-
meYeer hesšêsefueÙece GlheeoeW keâe cetuÙe efveOee&efjle efkeâÙee peelee nw—
(a) Petroleum ministry/ hesš^esefueÙece ceb$eeueÙe Éeje
(b) Market/ yeepeej Éeje
(c) State government/ jepÙe mejkeâej  Éeje
(d) Petroleum companies/ hesš^esefueÙece keâcheefveÙeeW Éeje

32. In which agricultureal product India is the
biggest producer and also the biggest importer
in the world?
efkeâme ke=âef<e Glheeo keâe Yeejle meyemes yeÌ[e Glheeokeâ leLee meyemes yeÌ[e
DeeÙelekeâ Yeer nw?
(a) Wheat/ iewntB (b) Rice / ÛeeJeue
(c) Pulses/ oeueW (d) Maize/ cekeäkeâe

33. Comptroller and Auditor General of India
shall be removed by each house of Parliament
by
Yeejle kesâ efveÙeb$ekeâ SJeb ceneuesKee hejer#ekeâ keâes mebmeo keâe ØelÙeskeâ
meove Éeje efkeâme yengcele mes nšeÙee pee mekeâlee nw?
(a) A majority of the total membership of that house /

Gme meove kesâ kegâue meomÙe mebKÙee kesâ yengcele mes
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(b) A majority of not less than two thirds of the
members of the house present and voting  / GheefmLele
leLee cele osves Jeeues meomÙeeW kesâ oes-efleneF& yengcele mes

(c) A majority of two-thirds of total numbers/ kegâue
meomÙeeW kesâ oes efleneF& yengcele mes

W (d) A and B both
34. Which state has become the first Indian state

to launch Crop Insurance Claim Distribution
Programme?
efkeâme YeejleerÙe jepÙe ves meJe&ØeLece heâmeue yeercee oeJee efJelejCe
keâeÙe&›eâce keâe MegYeejbYe efkeâÙee nw?
(a) Haryana/ nefjÙeeCee
(b) Rajasthan / jepemLeeve
(c) Uttar  Pradesh/ Gòej ØeosMe
(d) Madhya Pradesh/ ceOÙe ØeosMe

35. What is the India's rank in the 2016 enabling
trade Index?
Goej JÙeeheej metÛekeâebkeâ -2016 ceW Yeejle keâe keâewve-mee mLeeve nw?
(a) 112 (b) 102 (c) 93 (d)116

36. Example of Inland drainage river is
Dele: mLeueerÙe DeheJeenve veoer keâe GoenjCe nw—
(a) Mahi/ ceener (b) Ghaggar/ IeiIej
(c) Narmada/ vece&oe (d) Krishna/ ke=â<Cee

37. "Mountbatten Plan" regarding the partition of
India was officially declared on
Yeejle kesâ efJeYeepeve mes mecyebefOele ‘‘ceebTšyesšve Ùeespevee’’ keâer
mejkeâejer leewj hej Iees<eCee keâye ngF& Leer ?
(a) 4th June 1947 (b) 10 th June 1947
(c) 3rd July 1947 (d) 3rd June 1947

38. Dewas (Madhya Pradesh) is famous for its-
owJeeme (ceOÙe ØeosMe) Øeefmeæ nw—
(a) Textile industry/ JeŒe GÅeesie kesâ efueS
(b) Production of honey notes/ Meno Glheeove kesâ efueS
(c) Printing of currency notes/ keâjsvmeer veesš keâer ÚheeF& kesâ efueS
(d) Melting of coins/ efmekeäkesâ keâer {ueeF& kesâ efueS

39. Largest soil group is found in India as
Yeejle ceW meyemes yeÌ[e efceóer Jeie& nw
(a)  Red soil/ ueeue efceóer
(b) Black soil/ keâeueer efceóer
(c) Sandy soil/ yeuegF& efceóer
(d) Alluvial soil/ peueesÌ{ efceóer

40. With which game is the the "Uber Cup"
associated?
‘Gyesj keâhe’ efkeâme Kesue mes mecyebefOele nw?
(a) Football/ Heâgšyee@ueB (b) Volleyball / yeeueeryee@ue
(c) Badminton/ yeQ[efcebšve
(d) Cricket/ ef›eâkesâš

41. Rickets disease in poultry bird is caused due to
the deficiency of which vitamin?
cegefie&ÙeeW ceW efjkesâšdme jesie efkeâme efJešeefceve keâer keâceer kesâ keâejCe neslee
nw?
(a) Vitamin -A (b) Vitamin-B
(c) Vitamin-C (d) Vitamin-D

42. Who was the person not associated with Green
Revolution when it started in India?
Yeejle ceW nefjle ›eâebefle peye ØeejcYe ngF&, lees efvecveefueefKele ceW mes keâewve
Fmemes mebyeefOele veneR Leer?
(a) M. S. Swaminathan (b) C. Subramaniyam
(c) Indira Gandhi (d) Rafi Ahmad Kidwai

43 The Protection of Civil Rights Act extends to :
efmeefJeue DeefOekeâej mebj#eCe DeefOeefveÙece keâe efJemleeve nw :
(a)  The whole India/ mechetCe& Yeejle
(b) The whole of India except the scheduled areas /

DevegmetefÛele #es$eeW kesâ efmeJeeÙe mechetCe& Yeejle hej
(c) The whole of India except the state of Jammu and

Kashmir/ peccet keâMceerj jepÙe kesâ efmeJeÙe mechetCe& Yeejle hej
(d) The whole of India except the union territories of

Goa, Daman and diu/ mbeIe jepÙe#es$e ieesJee, oceve leLee oerJe kesâ
efmeJeeÙe mechetCe& Yeejle hej

44. 'National Voters Day' is celebrated on-
je<šêrÙe Jeesšme& efoJeme keâye ceveeÙee peelee nw?
(a) 5th June (b) 1st November
(c) 25th January (d) 8th March

45. "Madhubani" painting is related to which
state?
ceOegyeveer’’ heWefšie efkeâme jepÙe mes mecyeefvOele nw
(a) Uttar Pradesh/ Gòej ØeosMe
(b) Bihar/ efyenej
(c) Kerala/ kesâjue (d) Tamil Nadu/ leefceuevee[g

46. The state with lowest urban population in
India is
Yeejle ceW meyemes keâce veiejerÙe pevemebKÙee Jeeuee jepÙe nw—
(a) Sikkim/eqmeefkeäkeâce (b) Kerala / kesâjue
(c) Nagaland/ veeieeueQ[ (d) Manipur/ ceefCehegj

47 Who is known as the father of Indian super
computer?
YeejleerÙe meghej keâchÙetšj keâe pevekeâ keâewve keânueelee nw?
(a) Raghunath Mashelkar/ jIegveeLe ceMesuekeâj
(b) Vijay Bhatkar / efJepeÙe Yeeškeâj
(c) Jayant Narlikar/ peÙeble veeefuekeâj
(d) Nandan Nilekani/ vebove veerueskeâveer

48 The example of "Lentic Habitat" in fresh water
community is
mJeÛÚ peue mecegoeÙe ceW ’uewefvškeâ DeeJeeme’ keâe GoenjCe nw—
(a) Ponds and swamps/ leeueeye SJeb oueoue
(b) Waterfalls and river/ Pejvee SJeb veoer
(c) Ponds and river/ leeueeye SJeb veoeR
(d) All the above/ Ghejesòeâ meYeer

49. Which of the following country is the largest
source in India's total import?
(a) UAE / Ùet.S.F&
(b) Switzerland/ efmJešpejueQ[
(c) Hong Kong/ nebie keâebie (d) China/ Ûeerve

50. Hydraulic brake works on the law of
neF[êsefuekeâ yeÇskeâ  efkeâmekesâ efveÙece hej DeeOeeefjle nw?
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(a) Bernoulli's Law/ yejveewueer kesâ efveÙece hej
(b) Pascal's Law/ heemkeâue kesâ efveÙece hej
(c) Archimedes Law/ Deeefke&âefceef[pe kesâ efveÙece hej
(d) Hooke's law/ ngkeâ kesâ efveÙece hej

 Maths
51. If sec tan ,4 4 2

3
 then the value of

2 12sec  is —

Ùeefo sec tan ,4 4 2
3

 lees 2 12sec  keâe ceeve keäÙee

nesiee~
(a) 3

2
(b) 1

2
(c) 2

3
(d) 1

3
52. If 120 , then what will be the value of

4 82cos cos
Ùeefo 120 , lees 4 82cos cos  keâe ceeve keäÙee nesiee~
(a) —3 (b) 2 1 (c) 3 1 (d) 3 2

53. What is the total area of trapezium which are
inscribed in a semicircle having diameter 4 cm
?
Skeâ 4 mesceer. JÙeeme Jeeues Deæ&Je=òe ceW yeves meceuecye ÛelegYeg&pe keâe
kegâue #es$eheâue keäÙee nesiee~

(a) 12 cm2 (b) 3 3
4

2cm (c) 9 3
4

2cm (d) 3 3 2cm

54. The minute hand of a watch is 6 cm long. What
is perimeter swept (n cm) by the minute hand
in 30 min? (x = 3.14)
oerJeej Ie[er keâer efceveš megF& keâer uecyeeF& 6 mesceer. nw~ 30 efceveš
oerJeej ceW megF& Éeje mecesšs ieÙes #es$e keâe heefjceehe keäÙee nQ?

3 14. )
(a) 618.48 cm (b) 14.84 cm
(c) 18.84 cm (d) 14 cm

55. The product of radii of two spheres is 98 cm
and sum of their total surface area is 3080 cm2 .
What will be the sum of their radii ?
oes ieesueeW ef$epÙeeDeeW keâe iegCeveheâue 98 mesceer nw leLee Gvekesâ kegâue
he=‰rÙe #es$eheâueeW keâe Ùeesie 3080 mesceer 2  nw~ lees Gvekeâer ef$epÙeeDeeW
keâe Ùeesie keäÙee nesiee~
(a) 51 cm (b) 21 cm (c) 22 cm (d) 20 cm

56. If 8
49 1 7

49 7
3 3

3 3a b c and a, b and c

are rational numbers, then the value of a + b +
c will be —

Ùeefo 8
49 1 7

49 7
3 3

3 3a b c leLee a b,  Deewj c

heefjcesÙe mebKÙeeSB nw, lees a b c keâe ceeve nesiee—
(a) 1 (b) 2 (c) 3 (d) 0

57. If x x ax bx c2 225 64  and a, b and c
are rational numbers. Then, find the value of a
+ b + c.

Ùeefo x x ax bx c2 225 64  leLee a b,  Deewj c
heefjcesÙe ÙebKÙeeSB nw~ lees a b c keâe ceeve %eele keâerefpeS~
(a) 7 (b) 9 (c) 2 (d) 8

58. In ABC B,  is a right angle, AC = 15 cm, and D
is the mid point of AC. Find the length of BD.
ef$eYegpe ABC ceW B mecekeâesCe nw~ AC 15 mesceer. Deewj D
Yegpee AC keâe ceOÙe efyevog nw~ lees BD keâe ceeve %eele keâerefpeS~
(a) 7.2 cm (b) 7.5 cm
(c) 10 cm (d) 9 cm

59. Point A, B, C and D are lying on a circle. If AC
and BD intersect each other on the point E,
and BEC = 140° and ACD 30 , then BAC = ?
A B C, ,  Deewj D Skeâ Je=òe hej Ûeej efyevog nw~ Deiej AC Deewj BD
Skeâ otmejs keâes E hej ØeefleÛÚso keâjleer nQ, leLee BEC 140
Deewj ACD 30  nes, lees BAC ?
(a) 120° (b) 90° (c) 100° (d) 110°

60. A B,  and C are angle of a triangle. If
A B B C15 30, , then find the

value of B.
A B,  Deewj C Skeâ ef$eYegpe kesâ leerve keâesCe nw~ Ùeefo
A B B C15 30,  nes lees keâesCe B keâeve

%eele keâerefpeS~
(a) 45° (b) 55° (c) 65° (d) 75°

61. A man purchases two fans for Rs. 4500. By
selling one fan at a profit of 16% and other at a
loss of 14%, he neither gains nor losses in the
whole transaction. Find the cost price of each
fan.
Skeâ JÙeefòeâ ™. 4500 ceW oes hebKes Kejerolee nw~ Fve hebKeeW ceW henues
hebKes kesâ yesÛeves hej Gmes 16% ueeYe leLee otmejs hebKes keâes yesÛeves hej
Gmes 14% keâer neefve nesleer nw~ hetjs meewos ceW ve neefve ngDee Deewj ve ner
ueeYe ngDee, lees ØelÙeskeâ hebKeW keâe ›eâÙe cetuÙe %eele keâerefpeÙes~
(a) Rs. 2100, Rs. 2400 (b) Rs. 2500, Rs. 2000
(c) Rs. 2300, Rs. 2200 (d) Rs. 3000, Rs. 1500

62. A money lender finds that due to fall in the
annual rate of interest for 7% to 6 5

6
%, his

yearly income diminishes by Rs. 24. His capital
is—
Skeâ meentkeâej keâes helee Ûeuelee nw efkeâ Jeeef<e&keâ yÙeepe keâer oj 7% mes
6 5

6
% nes peeves kesâ keâejCe Gmekeâer Jeeef<e&keâ DeeÙe ceW ™. 24 keâer

keâceer Dee peeleer nw~ lees Gmekeâer hetBpeer nQ—
(a) Rs. 14200 (b) Rs. 14400
(c) Rs. 15400 (d) Rs. 16400

63. Two trains A and B start towards each other
from two places 324 km apart. Speed of train A
and B are 24 km/h and 30 km/h respectively.
When will they meet ?
oes jsueiee[er A leLee B oes Deueie-Deueie peieneW mes Skeâ otmejs keâer
lejheâ Ûeueleer nw~ oesveeW peieneW kesâ yeerÛe keâer otjer 324 efkeâceer. nw~
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oesveeW jsueiee[er A leLee B keâer Ûeeue ›eâceMeŠ 24 efkeâceer. Iebšs leLee
30 efkeâceer./Iebšs nw~ lees Jes keâye Skeâ otmejs mes efceueWieer~
(a) 5 hours (b) 4.5 hoours
(c) 6 hours (d) 7 hours

64. The average age of a woman and her son is 51
years. The ratio of their ages is 2 : 1. What will
be son's age ?
Skeâ Deewjle leLee Gmekesâ heg$e keâer Deewmele DeeÙeg 51 Je<e& nw~ Gvekeâer
DeeÙeg keâe Devegheele 2 1:  nw~ heg$e keâer DeeÙeg keäÙee nesieer~
(a) 17 years (b) 32 years
(c) 34 years (d) 68 years

65. If 30% of (A + B) = 50% of B, then the value of
3
3
A B
A B

 is —

Ùeefo ( )A B  keâe 30% B keâe 50% nw, lees 3
3
A B
A B

 keâe ceeve

keäÙee nesiee~
(a) 1 (b) 2 (c) 3 (d) 1

3
66. A certain number of persons can complete a

piece of work in 66 days. If there were 10
person more, the work could be finished in 11
days before. How many persons were
originally there ?
kegâÚ JÙeefòeâ Skeâ keâece keâes 66 efoveeW ceW Kelce keâj mekeâles nw~ Ùeefo
10 JÙeefòeâ Deewj nesles lees keâece 11 efove henues Kelce nes peelee nw, lees
DeejcYe ceW efkeâleves JÙeefòeâ Les~
(a) 50 (b) 45 (c) 60 (d) 66

67. In a business partnership among A, B and C,
the profit is shared as follows.
A share
B s share

B s share
C s share

'
'

'
'

1
3

. If the share of C is

Rs. 27000, then find the difference of the B's
and A's share.
Skeâ JÙeeheej ceW A B,  leLee C meePesoej nw~ leLee Gvekeâe ueeYeebMe
efvecveefueefKele nQ A share

B s share
B s share
C s share

'
'

'
'

1
3

~ Ùeefo C keâe

ueeYeebMe ™. 27000 nw, lees B leLee A kesâ ueeYeebMeeW keâe Deblej %eele
keâerefpeS~
(a) Rs. 6000 (b) Rs. 3000
(c) Rs. 3000 (d) Rs. 5000

68. If the selling price of 10 oranges is equal to the
cost price of 15 oranges. Then, profit percent is
Ùeefo 10 meblejeW keâe efJe›eâÙe cet. 15 mevlejeW kesâ ›eâÙe cetuÙe kesâ yejeyej
nw~ lees, ØeefleMele ueeYe nQ—
(a) 50% (b) 331

3
% (c) 75% (d) 60%

69. 1

3 1

1 1

2 1
4

 is equal to —

(a) 48
13

(b) 48
39

(c) 13
48

(d) 5

70. 2 2 2 .. . . . .  is equal to

2 2 2 .. . . . .  kesâ yejeyej nw~
(a) 2 (b) 3 (c) 3 (d) 3 3

Directions (71 : 75) : Study the pie—chart carefully and
answer the following questions.

efoÙes ieÙes Je=òe DeejsKe keâes OÙeeve mes heef{Ùes Deewj efvecve ØeMveeW kesâ Gòej
oerefpeÙes Š

Total monthly expenditure of company
keâcheveer keâe kegâue ceeefme KeÛe& 36000 ®.

71. Find the total expenditure on raw material.
keâÛÛes ceeue hej kegâÚ KeÛe& yeleeFS~
(a) Rs. 14200 (b) Rs. 14400
(c) Rs. 15000 (d) None of these

72. What is the ratio between expenditure on
electricity bill and telephone bill ?
efyepeueer efyeue šsueerheâesve efyeue hej KeÛe& keâe Devegheele keäÙee nw~
(a) 5 : 9 (b) 2 : 1 (c) 1 : 2 (d) 3 : 1

73. What is the percentage of transportation
expenditure to raw material expenditure /
heefjJenve hej KeÛe& keâÛÛes ceeue hej KeÛe& keâe efkeâlevee ØeefleMele nw~
(a) 50% (b) 331

3
% (c) 20% (d) 60%

74. Total expenditure on transport, telephone bill
and raw material is how many times of
elericity bill ?
keâcheveer Éeje heefjJenve, šsueerheâesve efyeue Deewj keâÛÛes ceeue hej efkeâÙee
ieÙee kegâue KeÛe&, efyepeueer efyeue hej KeÛe& kesâ efkeâleves iegves nQ~
(a) 3 (b) 3.5 (c) 3.33 (d) 4

75. Expenditure on maintenance is what percent
of total expenditure ?
jKe-jKeeJe hej KeÛe&, kegâue KeÛe& keâe efkeâlevee ØeefleMele nQ~
(a) 10% (b) 12% (c) 15% (d) 20%

English Comprehension &
Language

Directions for question 76 to 78 : In each of the
following questions, one part of the sentence has an
error and the other parts of the sentence are correct.
Find out which part of the sentence has an error and
mark that part as your answer out of (a), (b) and (c). If a
sentence is free from error, then choose your answer
as choice (d).
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76. They agreed (a)/to repair the damage (b)/freely to
charge. (c)/No error (d)

77. When Darun heard the news that his father had
been hospitalised (a)/he cacelled his trip (b)/and
returned back to his village(c)/No error (d)

78. The Governing Board (a)/comprises of (b)/several
distinguished personalities. (c)/No error (d)

Direction for question 79 to 81 : Sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternative out of the four.
79. If I ……… a doctor, I would serve all the poor.

(a) am (b) had been (c) were (d) was
80. He is weak ……… he does lot of work

(a) and (b) still (c) because (d)  so
81. Mahesh showed an ……… for sports at a very

early age.
(a) attitutde (b) aptitude
(c) imagination (d) Intuition

Direction for question 82 and 83 : Out of the four
alternatives, choose the one which best expresses the
meaning of the given word.
82. Supersede

(a) Suspend (b) Enforce
(c) Repeat (d) Set aside

83. Perilous
(a) Monstrous (b) Dangerous
(c) Cautious (d) Dubious

Direction for question 84 and 85 : Out of the four
alternatives, choose the word opposite in meaning to
the given word.
84. Salient

(a) correct (b) Insignificant
(c) Central (d) Convenient

85. Dormant
(a) strong (b) Humble (c) Quick (d) Active

Direction for question 86 to 88 : Four alternatives are
given for the Idiom/Phrase underliend in the sentence.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase.
86. Gift of the gab.

(a) Being Lucky
(b) Getting something free
(c) Talent for speaking (d) Great skill

87. Went a long way
(a) Took great effort (b) Spent a lot of time
(c) Extended widely (d) To be successful

88. Maiden speech
(a) Long speech (b) Brief speech
(c) First speech (d) Emotional speech

Direction for questions 89 to 91 : A part of the
sentence is underlined. Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no imrovement is required, your answer is (d).
89. He was released from the hospital yesterday.

(a) let out (b) discharged
(c) dismissed (d) No improvement

90. The colours softened as the sun went down.
(a) brightened (b) deepened
(c) mellowed (d) No improvement

91. The new manager is soft-spoken and is
considerable to all.
(a) concieted (b) considerate
(c) constricted (d) No improvement

Direction for questions 92 to 94 : Out of the four
alternatives, choose the one which can be substituted
for the given words/sentence.
92. To feel or declare disapproval of something or

someone.
(a) Declare (b) Deprive
(c) Depreciate (d) Deprecate

93. Easily duped or fooled.
(a) Insensible (b) Perceptible
(c) Gullible (d) Indefensible

94. Fear of darkness.
(a) Achluophobia (b) Hydrophobia
(c) Insomnia (d) Obsession

Dirrection for question 95 and 96 : Four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word
95. (a) Despondant (b) Detriemental

(c) Diaphenous (d) Dilapidated
96. (a) Seperate (b) Confidance

(c) Referance (d) Prosperous
Directions for questions 97 to 100 : In the following
passage some of the words have been left out. Read
the passage carefully and choose the correct answer
to each question out of the four alternatives and fill in
the blanks.

Cloze Test
According to the common 22 the ostrich does not
bury head in the sand to avoid danger. An ostrich
can run 23 a speed of forty-five miles per hour
kick powerfully and 24 aggressively with its
beack. As the largest and fastest bird in the
world, it 25 need to bury its head.

97. (a) fact (b) view
(c) expectation (d) belief

98. (a) with (b) for (c) at (d) to
99. (a) peck (b) play (c) push (d) poke
100.(a) doen’t (b) did (c) does (d) didn’t
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Answer key MOCK 4
1. (d) 2. (b)  3. (a) 4. (a) 5. (b) 6. (a) 7. (c)  8. (b) 9. (b) 10. (b)

11. (b) 12. (b) 13. (c) 14. (c)  15. (c)  16. (a)  17. (a)  18. (a)  19. (c)  20. (c)
 21. (c)  22. (a)  23. (d) 24. (a)  25. (d)  26. (a)  27. (a)  28. (c)  29. (b) 30. (b)
 31. (a) 32. (c)  33. (c)  34. (a)  35. (b)  36. (a)  37. (b)  38. (c)  39. (a) 40. (b)
 41. (c)  42. (a)  43. (c)  44. (b)  45. (b)  46. (a)  47. (b)  48. (b)  49. (b)  50. (b)

51. (d)  52. (b)  53. (a)  54. (a)  55. (b) 56. (a) 57. (c)  58. (b)  59. (b)  60. (b)
 61. (b)  62. (b) 63. (d) 64. (b)  65. (b)  66. (a)  67. (b)  68. (d)  69. (c)  70. (c)
 71. (c)  72. (a)  73. (d)  74. (a)  75. (d)  76. (b)  77. (a)  78. (a) 79. (c)  80. (c)
 81. (d)  82. (b)  83. (a)  84. (a)  85. (a)  86. (a) 87. (a) 88. (a) 89. (c)  90. (a)
 91. (d) 92. (b) 93. (a)  94. (b) 95. (c) 96. (d) 97. (d)  98. (b) 99. (b) 100. (d)
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